UP Board Solutions for Class 6 Maths Chapter
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Iudad TUS 3R I ST o Hifed gRT arifer ustem § fafe it & v fpu 77w 3iept &1 yefRfd srarg|
(i) T8 SUS 3G o1 YT U fRid BT 82

i) forg fawa o Aifga 7 sif¥eaw siw urd fpu?

iii) for fawa & gay ofe v few

iv) U fawg & 1 3R 3 fawal & v fovw 11u sies +ff farfam

?d:

) Aifed grT arftfer uien # faftrs fawal & ure i |
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(if) Mfed = TTforg H sifesar 3 U fhu|

(iii) TR d = QST faqm & =AW i Urd fhu |
(

iv) Aifgd gRT U 3ieb = fg=l 60, 3SH 55, 0T 80, fag= 75, IS A7 50
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UG GUS SR WR 3r1Rd fFaferiad usl & IR ifore:

(i) 3 3G BT YA T 32

(ii) fopa o & 1 Y e AEn @ 7S 3R fpa
(iii) forg o & g ) AaH A T 182

(iv) T 2002 T TIg BT farait AR WRIG TR |

?d:

(i) 3 3G BT YA 8- 1 I = 5 goIR &

(ii) 9 2004 T 30 TR T

(iii) 9 2000 #

(iv) 20 BOIR &
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fwifed qus smya fordht srarhia faemea & yaw UM arel Rrenfial &) G & axidr g |
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Iuad GUS 3R & YR W FAafeiad udl & I o

(i) a9 2001 H fRrenfiat ot e faat ot

(i) T 2002 # fRrenfiat o) W= 2001 & Rrenfial o Tom I feat st o
(iii) Stfremay et o we fog af F off?

?d:

(i) a8 2001 ¥ fRrenfiay ot e = 40

(ii) T 2002 T Rrenfiat & e = 60

Ty 2001 H fRrgnfiai ot T = 40

3R = 60 - 40 = 20
(i) I 2002 H





